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1 |&€ # J R4 5 16 50 27 2 54.0 1|8 B&=F ST0 6 20 84 7 0 91
2[R Bt LWhEE 4 13 93 50 53.8 2 |ZH #A wBHIX 5 17 83 4 1 88
3 |& fhiE #2557 4 15 72 37 51.4 3|KE REE wBHIKX 5 17 n 4 10 85
4 |4RE BHIKX 5 17 100 51 51.0 4 [FN EE KBRAHR 5 19 67 4 7 78
5 |/ £ J R4 5 16 129 64 49.6 5 |7/ EAN J KA 5 16 64 6 3 73
6 [H— FEth JRE 5 16 53 26 49.1 5 /A 2 FoY— 5 17 68 4 1 73
7|ZH #A BHIK 5 17 17 83 48.5 7 |fEE B8 KIRA R 5 19 52 3 8 63
8 |18 BEF STO 6 20 175 84 48.0 8 [R)II iBEth Whsz 4 13 50 8 4 62
9 (%0 $REA yRE 5 14 42 20 47.6 9 |[HH EX ST0 6 20 31 22 7 60
10|ES & JRA 5 14 53 25 47.2 RBE 3 wBHIKX 5 17 51 1 3 55
11886 55 LWhssE 4 13 103 48 46.6 H— Eth yRA 5 16 26 22 6 54
12| KB #&E BHIK 5 17 153 n 46.4 fRER A BE7ILE 5 18 46 3 5 54
13|&% A+ STO 6 18 97 44 12 45 4 13|#86 54 Wha& 4 13 48 2 1 51
14|E&X st #2557 4 13 47 21 1 4.7 14|1&5% &AL ST0 6 18 44 4 2 50
15/h@H E— Whsz 4 14 48 21 3 43.8 15|3% & Whsz 4 14 35 3 6 44
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14— ZEth IR 5 16 22 1.38 1|X8 f&&E wBHIKX 5 17 N 10 28 21.5
2 |EH EKX STO 6 20 22 1.10 2 |8 # yRA 5 16 46 5 21 20.7
3 |HlAR KE HETILE 5 18 15 0.83 3 [HE BAX ST0 6 15 38 6 14 20.4
4 (& AT KBRA R 5 19 14 0.74 4 |FRZE E—88 KBRAHR 5 19 68 8 30 20.2
5 |KJIl B LWhEsE 4 13 8 0. 62 5 [;)k@E 2 FoY— 5 17 61 10 20 20.1
6 |&E #t J R4 5 16 9 0.56 6 (lLO #HE Whsz 4 14 37 6 10 16.2
T |BRE KEF BHIX 5 17 9 0.53 1|4ER 8 #gH357 4 15 50 6 13 16.0
8 [Hill B— HETILE 5 18 9 0.50 8 |&HM FEKX ST0 6 20 70 7 21 13.9
9 B 4% %557 4 15 1 0.47 9 |h— Eth g RAE 5 16 69 6 19 8 12.7
10|AH & J R4 5 14 6 0.43 10|1RE BHIK 5 17 48 3 16 4 12.5
10|%&sk Fois (AYoX-3-3 4 14 6 0.43 11U 4 KERA R 5 13 38 4 8 7 11.2
101/h@B EB— LWhssE 4 14 6 0.43 12|% & Wha& 4 14 63 6 14 11 {107
13T —# STO 6 20 8 0.40 13(/hE E— Whsz 4 14 57 6 12 12 110.5
13(El HiE B350 4 15 6 0.40 141/hE F2 ToY— 5 17 51 1 20 3 10.3
15| F/# = IRAE 5 16 6 0.38 15|PREF X BET7ILE 5 18 67 5 16 9 10. 1
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1A & BE0357 4 15 84 48 23 13 170.8
2 R 5 WWhEE 4 13 88 47 19 22 | 64.2
3 |BE mth JRE 5 16 n 35 20 16 | 63.4
4 (&R ZEER BHETILE 5 15 60 30 16 14 |163.3
5 (%0 $REA yRa 5 14 n 37 13 21 61.3
6 [;FN EE KBRA R 5 19 80 36 26 18 | 61.3
IRE=Z 7| EES ) 4 13 56 25 18 13 | 60.7
8 |fEZE fE—8 KA X 5 19 m 48 34 29 | 58.6
9| KB BEAE BHIX 5 17 168 66 62 40 | 57.7
10|&% A+ STO 6 18 108 40 4 27 ]56.0
11(&E =i KBRA R 5 19 105 47 23 35 [55.7
12|BREF K HETILE 5 18 119 50 30 39 |[54.6
13| R/IA\K ## BHETILE 5 14 47 17 15 15 | 52.1
14|14 2z LWhssE 4 14 82 29 21 26 |51.8
15|EL 4% %5357 4 15 34 13 9 12 | 51.5
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